WR26FE BERNERE AL THEZRRN

SHESCHHAIAT R S

LEHENEHRER thH E=
TH oo 7 0 b T EAME
=5 TH4 THGr T34 = | T AFL O T (Bibk)
REEARERHES R T5F iiﬁ%ﬁﬁ%%@ﬁt?ﬂm $3rH | MRELEH |[FEFRAF T 2,100m — B AL 4,442,000
e TR LU
SR 2549 H Rk 25412 H -

O AL KOs ALE DS =
XIFA R ALK OV AL AR

O RO FH DM E
T4 B K OMERT

O ZKIAH

O 4%

O YAl mLIotLi=ED
P X4 R

BFET AL L E ] (B) DLk

LR IR B FERR B EENT K 75266 — 14

Rt B

(A= ST v =0

FRk254 9H 6H

¥4,620,000 (FiiA)

BB B INERRF SR ELDE | DL




/1 R—¥

A SRR

FERLES 003803011020130011

ERSERE  THEMEERENBRISE

] RERH | %BEEKS | giEAlEE || #£F |
| () B I | 4400000 AL |
#w B EHERE

AflgiTRE ERE25EIA4B

5 % ERSHEEREERHREREE

AREBLERME (BRE) 4442000

F e (BEAH) 4664,100

PEEEMIE (FrifE) 0

BHERELROSEOBEYEESYEE A

BATHHES

TRIALEE SFES |

https://ebic-odt/CALS/Order/ebidmlit/jsp/common14/NSheaderMenuOrder.jsp ' ' 2013/09/04



(all #K)

THEAEXERERETE HESMARBERERYFLHE
BRES EEET RREABE S BEHE il =
F00067 HEREZEMEZMANFEE266—14 )

r=t KBl
REmMFR HEE =&




r‘-\-\-\-\-\-\-\-\-‘-\-\-\-\-‘-\-\-\1

\
I
\
I
\
I
\
I
\
I
\
I
\
I
\
I
\
I
\
I
\
I
\
I
\
I
\
I
\
I
\
I
\
I
\
I
\
I
\
I
\
I
\
I
\
I
\
I
\
I
\
I
\
I
\
I

+
&
o
i

B & N ] £
KR4 roEMEERE XRA
I F £ THEMEEAEREISE

T HEREZEMRIEKEIKRFAL
FAWLEARHK 106/

HRMEER BERHMEER
RMEHEEZ ZEHFNEEE
EHmMAEFE FE

\
I
\
I
\
I
\
I
\
I
\
I
\
I
\
I
\
I
\
I
\
I
\
I
\
I
\
I
\
I
\
I
\
I
\
I
\
I
\
I
\
I
\
I
\
I
\
I
\
I
\
I
\
I
\
I

L S 8§ S 8§ S 8§ S8 S8 S8 S8 S8 S8 S8 S8 S8 S8 S8 S8 S8 S8 S S\



A IEERARZRE

ITEZ TEEMEXEREXRRIE

- EEHENEHZEAFE
BH#ENo _ Z B -1 12 R = B {y B £ Z5 1 =

1 EFWRAMAT 2100.00 m2 — 2,626,000

A 2,626,000

BETEE HEREE 1.00 = - 361,000

A 361,000

N E 2,987,000

BiETIEE HIGEERE 1.00 = - 896,000

N E 896,000

il 3,883,000

— kR E B & ZE 1.00 = - 559,000

il 559,000

& &t 4,442,000

H & oM L % 222,100

& &t 222.100

W& 4,664,100




REDOH

NERE

1 |FEFWRAT

(F8E&) EEFMNEEE
ZEH6tA MBS D AE

Ei {fiNo £ G Ak ~T ik 8 = BAr | B @ & E & &
[ T8 2] 2,100.00] m2
BFRMI (ERERGAR) 840.00] m2
BFRMI (ERERGAR) 1,134.00, m2
BFRMI (ERERGAR) 126.00] m2 361,000

T & &t

2,626,000




FREDH

=

2 |FEISE HBREE

(F8E&) EEFMNEEE
AE
Ei {fiNo £ G Ak ~T ik = BAr | B @ & E & &

INET (ATRH EITRERE)
INEE BREH EITFIRERE)
EERABREE 100 =
il 361,000




